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ECONOMICS
( General )
‘Paper + 8.1
( Public Finance )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following : 1x10=10
@oTo RIS s o

{a) What is public finance?

ol Re 0

(b) Give one example of progressive tax.

FRET I 1 St e o

() Choose the correct word to fill in the
- blank :

0% TSI AR o R 91X o7t 441 :
Sales tax’ s afan
(direct/indirect) tax.

R Ry (oo /o) 99|
(d) What does proportional taxation mean?
SRS 39 3w R =02
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(e)

(9)
(h)

()

2. Answer the following :

(2)

State whether the following statement
is true or false :
o ST 9] (7 ST SR I

‘Income tax’ is a direct tax.

SR Ry LT 9 |
What is the meaning of public debt?
SIFIR A e 52
Give one example of public goods.
el TR o1 Srzaet i |
State whether the following statement
is true or false :
©e SRSCH 379) (7 Ty Seay
“In case of surplus budget, government
expenditure exceeds government
revenue.”

“qIfE ICWHT CFAS HIFIA I HIFIAN AHSLE
QR =1

Mention one source of public revenue.
TR A b1 T A Teard 90|
Mention one objective of public
expenditure.

5N IR 901 Sren SeEy 40 |

o MAAR] Taq oy

(@)
(b)
(c)

A7/329

What is deficit budget?

16 ICHG M 15 2

Mention two demerits of direct tax.
o[©TH F9 Y01 (TR Seey 3947 |

Mention two characteristics of indirect

tax.
of7AT FI9 701 (B Trmy <y |

( Continued )

e R

2x5=10

(3)

(d) What is fiscal policy?
ey S 2

(¢) Mention two characteristics of public
goods.

IEZH T Y1 G Bead 4 |

3. Answer any four from the following : 5x4=20
ool R e s Teg s

(@) Distinguish between public goods and
private goods.
A T F GSe TR e AN ey
90

(b) Write a note on the methods of
repayment of public debt.

éﬂﬁﬂqﬂmﬁﬁﬁﬁﬁ“ﬂﬁaﬁ@m
|

(c) Discuss the demerits of progressive
taxation.

T T (TR A 7 |

(d) Distinguish between revenue budget
and capital budget.

(e JAHG SF Jeqgal ACOT TS A1 fefy
il

(¢) What are the objectives of fiscal policy
in a developing country like India?
SHET T THIAN (PO R Teq
SR R 2

(/ Write a note on the burden of external
public debt.

AR SRR ATT QTN o B T v |
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(4)

4. Answer any four from the following : 10x4=40
oo R e DR Ted ford
(a) Explain impact, incidence and shifting
of a tax.

F99 TS, IS IR FPTET W 41 |

(b) What are the factors which determine
‘taxable capacity?
29 o e e w1 Temeen %2
() Show the differences between public
finance and private finance.
Sl e T s ReT T ALEPR
Al |
(d) Discuss the merits and demerits of

proportional taxes.
e FI9 BT WP (TR el @41 |

(e) Discuss the effects of public
expenditure on distribution.

Reqed @9 FRFRI T AR M 40 |
() Describe the canons of public

expenditure.

SR 9 AR I 3 |

(g) Discuss briefly the characteristics of 2

good tax system.
C LRk w9
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ECONOMICS ,
( General ) /

Paper : 5.2

( Introduction to Growth and
Development Economics )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
e SR were fraeare Ted for -

(a) Mention any one disadvantage of per
capita income as an indicator of
economic development.

wftafor T fote fapnel el o
R e @1 Spjfdn a4 |
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(2)

(b) Gross domestic product is a perfect tool
of measuring economic development.

;Ib (State True or False)
WO e LR GRARE TR @
e e |

(5r®1 1 =P foid)

(c) Name the first economist to propound
the theory of balanced growth.

G I B 5
wYASRTI A forar |

d) Giv¢ the meaning of capitalist surplus.

R Tyes wef o7 |

(e) According to Prof. Hirchman, the best

 strategy f’f development is the creation
of in the economy.

' (balance/imbalance)
(Fill in the blank by choosing
the correct one)

TF R Woe, Wiy
MR 00 SR b T | —*

(vree fepiEe)
(o Texehr IR Somiz
0 31 *[q 1)

{ Continued )

(9

(h)

i)

0

A7/330

(3)

Backwash effects have unfavourable
effects on economic expansion.

(State True or False)
ST STEPTRTS PORIFE AR 2SR
o = | A

(@ 7 ey o)

____ intensive technique is used for
large-scale industries.
(Fill in the blank)

AR TR AR R @@
JRIFAN '

| (A SR o1 F9)
Mention one limitation of large-scale
industries in a country like India.

SREY WA (71 43S RN PR <l
Szl Tea 79|

Small-scale industries require less
machineries and more workers.
(State True or False)

FEER SO TR T TS e e
AR 20T |

(319} 7 =P fordT)

Write the meaning of capital intensive
technique.

Terea-FRe (e o forn |
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(4)

2. Answer the following : - 2x5=10

(@) State any two non-economic factors
that influence economic growth.

WA R doRie w1 R @
T-GRAST IR S 791 |

(b) Give the meaning of market-
imperfection in the context of
development.

T (oS RSP mmzﬁrf?mn

() Mention any two causes of economic
underdevelopment of the countries.

CPPTTRR AP SRR R I 51 IR
Ty ¥

(d) What are the two sectors of the Lewis
model of unlimited supply of labour?

e =fies TN @@= wbre o 99
LORGAC R

fe) State two basic contributions of |

agriculture towards the economic
. development of developing countries.

TATE (PR AR Tmme $Rvet R
e o1 o Teay w01

£ £ mentiontinAd )

(§)

3. Answer any jour of the following : . Sx4=20

wore fRaIR R 1o vifeR s for -

(a) Write a brief note on the availability
of natural resources as a source of
economic growth.

wART SRR Sl Rord Al A
R Racw <ot 55 Gt forn o

(b) “Growth is quantitative and
development is qualitative.” Briefly
explain the statement.

‘onfe ARTee (R TR @S 1 FIEE
SF TR A

) State the limitations of per capita
income as a measure of economic

development.
e Smm R wiRen Roet Wl
SR SaerTz TEy 79 |

(d) Elaborate the concept of dual economy.
Cre-oAIST IENCHT M 1 |

(e) Write a note on choice of technique.

o (FPEe R 9B GOt fora |
() Argue the case for small-scale industry

in the context of developing economy. -

WWWW@W%@
6T |
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(6)

4. Answer any four of the following : . 10%x4=40
ware s R el siibr Teg o

(a) Explain the concept of vicious circle
of poverty’ as a factor influencing
economic development of developing
countries. '

Sl (PR AT S deRife
T IRT R GREOR  AFES'T  YRETHT
[/ T

(b) What is Human Development Index?
"Explain its acceptability over other
indicators of economic development.

TR B P 2 whafes Tmmr Fotw
R AR IRFT TS R SR
TR |

(¢) Ezxplain the concept of balanced growth
along with limitations.

SRS SISy TR 4R I
I

(d) Critically discuss the role of ‘backwash
effects’ and ‘spread effect’ for rising
inequalities as shown in Myrdal’s
theory.
feee g ew e e 1R
POMATE AR W SreepiRq ARAN'T
ST STICAANIFSICE 101 37 |

A7/330 ( Continued)

(e)

(9)

()

A7—12*/330

(7)

Give a critical appraisal of Hirchman’s
doctrine of unbalanced growth.

R SPTERS T TIOR GOl SIS
fRgRer SNoRCERT |

Is labour-intensive technique more
suitable in developing countries? Give
reasons for your answer.

e e IR -RRe e Sl
TR @R? AR TER IE T

Y& |
Explain the merits and demerits of

large-scale industries in the context of
developing economy.

TN (PR (IFEDS 2R SR (TR
T SR I T |

Assess the role of agriculture in
economic development with special
reference to India.

TSR S Rem o™ AR LA
Trme IR SRS Aot F 4

* %k %
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